



# Tikrit Journal of Pure Science

ISSN: 1813 – 1662 (Print) --- E-ISSN: 2415 – 1726 (Online)

Journal Homepage: <a href="http://tjps.tu.edu.iq/index.php/j">http://tjps.tu.edu.iq/index.php/j</a>



# Some common fixed point theorems of p- contraction and $(\alpha, \beta)$ composition contraction in Generalized Banach space

Wesam Nafia khuen, Alia Shani Hassan

Department of Mathematics, College of Science, University of Al-Qadisiyah, Al-Qadisiyah, Iraq https://doi.org/10.25130/tjps.v28i2.1349

# ARTICLE INFO.

## **Article history:**

-Received: 25 / 5 / 2022 -Accepted: 23 / 6 / 2022

-Available online: 26 / 4 / 2023

**Keywords:** Banach space, Generalized Banach space, Normed space, Fixed pont, Cauchy sequence, convergent sequence.

# **Corresponding Author:**

Name: Wesam Nafia khuen E-mail: ma20.post23@qu.edu.iq

Tel:

©2022 COLLEGE OF SCIENCE, TIKRIT UNIVERSITY. THIS IS AN OPEN ACCESS ARTICLE UNDER THE CC BY LICENSE

http://creativecommons.org/licenses/by/4.0/



#### **ABSTRACT**

In this work, we introduce Some common fixed point theorems of p – contraction and  $(\alpha,\beta)$  composition contraction in Generalized Banach space. The provided theorem is a generalization and extension of many well-known theorems.

#### 1. Introduction

Banach [2] showed and proved a crucial conclusion in complete metric spaces, namely that each contraction mapping of a complete metric space has into itself a unique fixed point. Bakhtin [1] and Czerwik [7], as a generalization of metric spaces, developed the notion of b- metric spaces in 1989. For the study of fixed points in standard metric spaces or other generalized metric spaces, many academics extended and confirmed this theory, we recommend (M. Boriceanu [4], Bota et al. [5], Ding et al. [8], al. [10], Ozturk et al. [12]. A. Harandi, Mehmet Kir et al., Many researchers, on the other hand, have used rational type contractive conditions (Khan et al. [11], Sarwar and Rahman [13], S. Xie et al. [15] and [14] Merdaci, S., and T. Hamaizia ). In this work, we show and expand some common fixed point theorems that are also valid in generalized Banach space, we also provide some specific examples to show the veracity of our results.

A mapping  $F: H \to H$  where  $(H, \|.\|)$  is a Banach space, is said to be a contraction if there exists  $0 \le k < 1$  such that, for all  $x, y \in H$ ,

 $||Fx - Fy|| \le z||x - y||. \dots (1.1)$ 

**Definition 1.1**[3] :If H nonempty is a linear space having  $s \ge 1$ , let  $\|.\|$  denotes a function from linear space H into  $\mathbb{R}$  that satisfies the following axioms:

1. for all  $x \in H$   $||x|| \ge 0$ , ||x|| = 0 if and only if x = 0:

2. for all  $x, y \in H$ ,  $||x + y|| \le s [||x|| + ||y||]$ ; 3. for all  $x \in H$ ,  $\alpha \in \mathbb{R}$ ,  $||\alpha x|| = |\alpha| ||x||$ ;

 $(H, \|.\|)$  is called generalized normed linear space. If for s = 1, it reduces to standard normed linear space.

**Definition 1.2**[3] Let (H, ||.||) be a generalized normed space then the sequence  $\{u_n\}$  in H is called,

1. Cauchy sequence iff for each  $\varepsilon > 0$ , there exist  $n(\varepsilon) \in \mathbb{N}$  such that for all  $m, n \geq n(\varepsilon)$  we have  $\|u_n - u_m\| < \varepsilon$ .

2. Convergent sequence iff there exist  $u \in H$  such that for all  $\varepsilon > 0$ , there exist  $n(\varepsilon) \in \mathbb{N}$  such that for every  $n \ge n(\varepsilon)$  we have  $||u_n - u|| < \varepsilon$ .

**Definition 1.3**[3]: generalized Banach space is a linear generalized normed space in which every Cauchy sequence is convergent.

**Lemma 1.1.**[6] Let  $0 \le p < 1$ . And  $u, v \ge 0$  Then the following inequality is holds

+

$$(u+v)^p \le u^p + v^p, ...(1.2)$$

**Lemma 1.2**.[9] Let  $(H, \|.\|)$  be a G.B.S. with a real number  $s \ge 1$ , and F self-mapping on H, assume that  $\{u_n\}$  is a sequence in H defined by  $u_{n+1} = Fu_n$ 

 $||u_{n-}u_{n+1}|| \le \alpha ||u_{n-1} - u_n||$ , for all  $n \in \mathbb{N}$ ...(1.3)

where  $\alpha \in [0,1)$ ,  $0 \le s\alpha < 1$ . Then  $\{u_n\}$  is a Cauchy sequence and is a converges to some  $u^* \in H$ as  $n \to +\infty$ .

## 2. Main Result

**Definition 2.1:** Let H be a G.B.S. with  $\|.\|$ ,  $s \ge 1$ and let  $F, Q : H \to H$  is said to be p – contraction, such that

$$||Fx - Qy||^{P} \le a \frac{||Fx - x||^{P} + (||x - y|| ||Qy - y||)^{P}}{1 + ||Fx - Qy||^{P}} + b \frac{(||x - Qy|| ||x - Fx||)^{P}}{(||x - y|| + ||Fx - Qy||)^{P}} + c \frac{||x - Qy||^{P}}{1 + ||y - Fx||^{P}} \dots (2.1)$$
for all  $x \in Y \subseteq H$ ,  $0 \le P \le 1$ , where  $a \in Y$  and  $a \in Y$ .

for all  $x, y \in H$ ,  $0 < P \le 1$  where a, b and c are nonnegative real numbers and  $(0 \le a + b s^p +$  $2c s^p \le 1$ ),  $(1 \le a s^p < 1)$ .

**Theorem 2.1**: Let  $(H, \|.\|)$  be a G.B.S. and let  $F, Q: H \to H$  be a two mappings a p – contraction. Then *F* and *Q* have a unique common fixed point.

**Proof**: We define a sequence.  $\{u_n\}$  in H such that  $u_{n+1} = Fu_n, u_{n+2} = Qu_{n+1}, \text{ for all } n \in \mathbb{N}.$ ./../(2.2)

(I) We'll show that  $\{u_n\}$  is Cauchy sequence,

If,  $u_n = u_{n+1}$  for all  $n \in \mathbb{N}$ , and let n = 2z, then  $u_{2z} = u_{2z+1}$  as well as the condition(2.1) with  $x = u_{2z}$  and  $y = u_{2z+1}$  we have,

$$\begin{aligned} \|u_{2z+1} - u_{2z+2}\|^P &= \|Fu_{2z} - Qu_{2z+1}\|^P \\ &\leq a & \frac{\|Fu_{2z} - u_{2z}\|^P + (\|u_{2z} - u_{2z+1}\|\|Qu_{2z+1} - u_{2z+1}\|)^P}{1 + \|Fu_{2z} - Qu_{2z+1}\|^P} \end{aligned}$$

$$+ b \frac{(\|u_{2z} - Qu_{2z+1}\| \|u_{2z} - Fu_{2z}\|)^P}{(\|u_{2z} - u_{2z+1}\| + \|Fu_{2z} - Qu_{2z+1}\|)^P}$$

$$+ c \frac{\|u_{2z} - Qu_{2z+1}\|^{P}}{1 + \|u_{2z+1} - Fu_{2z}\|^{P}}$$

$$= a \frac{\|u_{2z+1} - u_{2z}\|^P + (\|u_{2z} - u_{2z+1}\| \|u_{2z+2} - u_{2z+1}\|)^P}{1 + \|u_{2z+2} - u_{2z+1}\|^P}$$

$$+b\frac{(\|u_{2z}-u_{2z+2}\|\|u_{2z}-u_{2z+1}\|)^P}{(\|u_{2z}-u_{2z+1}\|+\|u_{2z+1}-u_{2z+2}\|)^P}$$

$$+ b \frac{1}{(\|u_{2z} - u_{2z+1}\| + \|u_{2z+1} - u_{2z+2}\|)^P}$$

$$+ c \frac{\|u_{2z} - u_{2z+2}\|^P}{1 + \|u_{2z+1} - u_{2z+1}\|^P}$$

$$= c \|u_{2z} - u_{2z+2}\|^{p}$$

 $\leq c (s(||u_{2z}-u_{2z+1}||+||u_{2z+1}-u_{2z+2}||))^{P},$ Property (2) from definition (1.1) and by condition (2.1) and by lemma [1.1], we get,

$$||u_{2z+1} - u_{2z+2}||^p \le c(s)^p$$
 [  $(||u_{2z} - u_{2z+1}|| + ||u_{2z+1} - u_{2z+2}||)^p$ ]

$$||u_{2z+1} - u_{2z+2}||^{p} | \le c (s)^{p} [||u_{2z} - u_{2z+1}||^{p} + ||u_{2z+1} - u_{2z+2}||^{p}] ||u_{2z+1} - u_{2z+2}||^{p} \le c (s)^{p} ||u_{2z+1} - u_{2z+2}||^{p},$$

raising two sides of the inequality to the power of 1/p,

which is a contradiction. Because  $0 \le c s = \gamma < 1$ ,  $||u_{2z+1} - u_{2z+2}|| \le \gamma_1 ||u_{2z+1} - u_{2z+2}||, \dots (2.3)|$ 

Now, if n = 2z + 1 then using the identical arguments as were used in the case  $u_{2z} = u_{2z+1}$ , it can be shown that from now on, we assume that  $u_n \neq$  $u_{n+1}$  for all  $n \in \mathbb{N}$ .

$$||u_{2z+1} - u_{2z+2}||^P = ||Fu_{2z} - Qu_{2z+1}||^P$$

$$\leq a \frac{\|Fu_{2z} - u_{2z}\|^P + (\|u_{2z} - u_{2z+1}\|\|Qu_{2z+1} - u_{2z+1}\|)^P}{1 + \|Fu_{2z} - Qu_{2z+1}\|^P}$$

$$+b\frac{(\|u_{2z}-Qu_{2z+1}\|\|u_{2z}-Fu_{2z}\|)^P}{(\|u_{2z}-u_{2z+1}\|+\|Fu_{2z}-Qu_{2z+1}\|)^P}$$

$$+ b \frac{(|u_{2z} - u_{2z+1}|| + ||Fu_{2z} - Qu_{2z+1}||)^P}{(||u_{2z} - Qu_{2z+1}|| + ||Fu_{2z} - Qu_{2z+1}||)^P}$$

$$+ c \frac{||u_{2z} - Qu_{2z+1}||^P}{1 + ||u_{2z+1} - Fu_{2z}||^P}$$

$$= a \frac{\|u_{2z+1} - u_{2z}\|^P + (\|u_{2z} - u_{2z+1}\| \|u_{2z+2} - u_{2z+1}\|)^P}{1 + \|u_{2z+2} - u_{2z+1}\|^P}$$

$$+b\frac{(\|u_{2z}-u_{2z+2}\|\|u_{2z}-u_{2z+1}\|)^P}{(\|u_{2z}-u_{2z+1}\|+\|u_{2z+1}-u_{2z+2}\|)^P}$$

$$+ c \frac{\|u_{2z} - u_{2z+2}\|^{P}}{1 + \|u_{2z+1} - u_{2z+1}\|^{P}}$$

$$= a \frac{\|u_{2z+1} - u_{2z}\|^P + (\|u_{2z} - u_{2z+1}\| \|u_{2z+2} - u_{2z+1}\|)^P}{1 + \|u_{2z+2} - u_{2z+1}\|^P}$$

$$+b\frac{(\|u_{2z}-u_{2z+2}\|\|u_{2z}-u_{2z+1}\|)^P}{(\|u_{2z}-u_{2z+2}\|\|u_{2z}-u_{2z+1}\|)^P}$$

$$+ c \frac{\|u_{2z} - u_{2z+1}\| + \|u_{2z+1} - u_{2z+2}\|)^{P}}{\|u_{2z} - u_{2z+2}\|^{P}}$$

$$+ c \frac{\|u_{2z} - u_{2z+2}\|}{1 + \|u_{2z+1} - u_{2z+1}\|^P}$$

$$= a \frac{\|u_{2z+1} - u_{2z}\|^p (1 + \|u_{2z} - u_{2z+1}\|^p)}{1 + (\|u_{2z} - u_{2z+1}\|)^p}$$

$$b \frac{(\|u_{2z}-u_{2z+2}\| \|u_{2z}-u_{2z+1}\|)^P}{(\|u_{2z}-u_{2z+2}\| + \|u_{2z}-u_{2z+1}\|)^P}$$

$$b \frac{1}{(\|u_{2z} - u_{2z+1}\| + \|u_{2z+1} - u_{2z+2}\|)^{P}} + c \|u_{2z} - u_{2z+2}\|^{P}$$

by condition (2.1) from lemma 1.1, we get

$$\leq a \|u_{2z+1} - u_{2z}\|^{p}$$

$$b \frac{s^{p} \|u_{2z} - u_{2z+2}\|^{p} \|u_{2z} - u_{2z+1}\|^{p}}{\|u_{2z} - u_{2z+2}\|^{p}}$$

$$+ c \left( s[\|u_{2z} - u_{2z+1}\| + \|u_{2z+1} - u_{2z+2}\|] \right)^{p}$$
Since, 
$$\frac{1}{[(\|u_{2z} - u_{2z+1}\| + \|u_{2z+1} - u_{2z+2}\|)^{p}]} \le \frac{s^{p}}{\|u_{2z} - u_{2z+2}\|^{p}}$$

that  $[\|u_{2z} - u_{2z+2}\| \neq 0 \text{ and } (\|u_{2z} - u_{2z+2}\|)]$  $|u_{2z+1}|| + ||u_{2z+1} - u_{2z+2}||)^p \neq 0$ ],

we get,

$$\|u_{2z+1} - u_{2z+2}\|^p \le a \quad \|u_{2z+1} - u_{2z}\|^p + b e^p \|u_{2z+1} - u_{2z}\|^p$$

$$b \, s^p \, \|u_{2z} - u_{2z+2}\|^p + c \, s^p \, [\, \|u_{2z} - u_{2z+1}\|^p + \|u_{2z+1} - u_{2z+2}\|^p \,]$$

$$\leq a \|u_{2z+1} - u_{2z}\|^p + b s^p \|u_{2z} - u_{2z+2}\|^p + c s^p [\|u_{2z} - u_{2z+1}\|^p + c s^p \|u_{2z+1} - u_{2z+2}\|^p]$$

$$\begin{array}{l} + c \, s^{p} \, \left[ \, \left\| u_{2z} - u_{2z+1} \right\|^{p} + c \, s^{p} \, \left\| u_{2z+1} - u_{2z+2} \right\|^{p} \, \right] \\ (1 - c \, s^{p} \, ) \left\| u_{2z+1} - u_{2z+2} \right\|^{p} \, & \leq \, (a + b \, s^{p} \, + c \, s^{p}) \, \left\| u_{2z} - u_{2z+1} \right\|^{p} 
 \end{array}$$

$$||u_{2z+1} - u_{2z+2}||^p \le \frac{(a+b s^p + c s^p)}{(1-c s^p)}$$
  $||u_{2z} - u_{2z+2}||^p \le \frac{(a+b s^p + c s^p)}{(1-c s^p)}$ 

 $u_{2z+1}||^{p}$ . Raising two sides of the inequality to the power of 1/p.

We get,

$$||u_{2z+1} - u_{2z+2}|| \le \left(\frac{(a+b\,s^p + c\,s^p)}{(1-c\,s^p)}\right)^{\frac{1}{p}} ||u_{2z} - u_{2z+2}||$$

$$u_{2z+1}\|$$

$$||u_{2z+1}|| ||u_{2z+1} - u_{2z+2}|| \le \gamma_2 ||u_{2z} - u_{2z+1}||, \dots (2.4)$$

$$\gamma = \left(\frac{(a+b s^p + c s^p)}{(1-c s^p)}\right)^{\frac{1}{p}} < 1.$$

where 
$$(0 \le a + b s^p + 2c s^p \le 1)$$
.

From (2.3) and (2.4) by using lemma (1.2) limit  $n \rightarrow \infty$  we can deduce that  $\{u_n\}$  is a Cauchy sequence in (H, ||.||), and that is a converges to some  $u^{\tilde{}} \in H$  as

(II) We will prove that  $Fu^* = Ou^* = u^*$ .

by property (2) from definition (1.1) and condition(2). 1), we have,

$$\|u^* - Fu^*\|^p \le (s[\|u^* - u_{2n+2}\| + \|u_{2n+2} - Fu^*\|])^p$$



We proved that F and Q have a unique common fixed point. **Corollary 2.1.**Let H be a G.B.S. with  $\|.\|$  and let  $F, Q: H \to H$  be a two mappings on H fulfilling the condition,  $s \ge 1$  and  $(0 \le p < 1)$  $\sqrt{\|Fx-x\|} + \sqrt{\|x-y\|\|Qy-y\|}$  $1+\sqrt{\|Fx-Qy\|}$  $b \, \tfrac{\sqrt{\|x-Qy\| \, \|x-Fx\|}}{\sqrt{\|x-y\|+\|Fx-Qy\|}} + c \, \tfrac{\sqrt{\|x-Qy\|}}{1+\sqrt{\|y-Fx\|}}$ ... (2.5) for all  $x, y \in H$ , where a, b and c are nonnegative .real numbers. and  $(0 \le a + b\sqrt{s} + 2c\sqrt{s} < 1)$ . Then F and Q have a unique common fixed point. Corollary 2.2.Let H be a G.B.S. with  $\|.\|$  and let  $F,Q: H \to H$  be a two mappings on H fulfilling the

condition, 
$$s \ge 1$$
 and  $(0 \le p < 1)$   
 $||Fx - Qy||^P \le a$ 

$$\frac{||Fx - x||^P + (||x - y|| ||Qy - y||)^P}{1 + ||Fx - Qy||^P}$$

+ 
$$b \frac{(\|x-Qy\| \|x-Fx\|)^P}{(\|x-y\|+ \|Fx-Qy\|)^P}$$
, ... (2.6)

for all  $x, y \in H$ , where a, b and c are nonnegative real numbers, and

 $(0 \le a + b \sqrt[p]{s} < 1)$ . Then F and Q have a unique common fixed point.

Corollary 2.3.Let H be a G.B.S. with  $\|.\|$  and let  $F, Q: H \to H$  be a two mappings on H fulfilling the condition,  $s \ge 1$  and  $(0 \le p < 1)$ 

$$||Fx - Qy||^{P} \le a \qquad \frac{||Fx - x||^{P} + (||x - y|| ||Qy - y||)^{P}}{1 + ||Fx - Qy||^{P}} + b$$

$$\frac{||x - Qy||^{P}}{1 + ||y - Fx||^{P}}, ..(2.7)$$

for all  $x, y \in H$ , where a, b and c are nonnegative .real numbers. and

 $(0 \le a + 2b \sqrt[p]{s} < 1)$ . Then F and S have a unique common fixed point.

**Definition 2.2:** Let H be a G.B.S. with  $\|.\|$  and  $s \ge 1$  a mappings  $F, Q: H \to H$  is said be a  $(\alpha, \beta)$ composition contraction if fulfilling the condition,

 $||QFx - FQy|| \le \alpha ||Fx - FQy|| + \beta ||Qy - QFx||,$ 

for all  $x, y \in H$ , where  $\alpha, \beta$  and c are nonnegative real numbers,  $\alpha s < \frac{1}{2}$  and  $s \beta < 1$ . **Theorem 2.2**: Let H be a G.B.S. with  $\|.\|$  and

 $F,Q: H \to H$  a  $(\alpha,\beta)$  composition contraction. Then QFx and FQy have a unique common fixed point.

**Proof**: We define a sequence.  $\{u_n\}$  in H as a result,

$$Fu_n = u_{n+1}, Qu_{n+1} = u_{2n+2}, QFu_n = u_{n+2}$$
 and  $FQu_{n+1} = u_{n+3}, (2.9)$  for all  $n \in \mathbb{N}$ .

If, n = 2z for all  $n \in \mathbb{N}$ , as well as the (3.20) with  $x = u_{2z}$  and  $y = u_{2z+1}$  we have,

$$\begin{split} \|u_{2z+2} - u_{2z+3}\| &= \|QFu_{2z} - FQu_{2z+1}\| \\ &\leq \alpha \|Fu_{2z} - FQu_{2z+1}\| + \beta \|Qu_{2z+1} - QFu_{2z}\| \\ &= \alpha \|u_{2z+1} - u_{2z+3}\| + \beta \|u_{2z+2} - u_{2z+2}\| \\ &= \alpha \|u_{2z+1} - u_{2z+3}\| \end{split}$$

by property(2) of the definition(2.1), and the condition (2.9), we have

 $||u^* - u^*||^p + (||u^* - v^*|| ||v^* - v^*||)^p$ 

 $+ b \frac{(\|u^* - v^*\| \|u^* - u^*\|)^p}{(\|u^* - v^*\| + \|u^* - v^*\|)^p} + c \frac{\|u^* - v^*\|^p}{1 + \|v^* - u^*\|^p}$ 

we have  $||u^* - v^*|| = 0$ , i.e.  $u^* = v^*$ .

 $= c \frac{\|u^* - v^*\|^p}{1 + \|u^* - v^*\|^p}$ 

**TJPS** 

$$\begin{split} \|u_{2z+2} - u_{2z+3}\| & \leq & \alpha s [ \ \|u_{2z+1} - u_{2z+2}\| \ + \\ \|u_{2z+2} - u_{2z+3}\| \ ] \\ \|u_{2z+2} - u_{2z+3}\| & \leq \frac{\alpha s}{1-\alpha s} \ \|u_{2z+1} - u_{2z+2}\| \\ \|u_{2Z+2} - u_{2Z+3}\| & \leq \gamma \|u_{2z+1} - u_{2z+2}\|, \ \text{let} \ \ \gamma = \frac{\alpha s}{1-\alpha s} \\ & < 1. \end{split}$$

Using lemma (1.2) limit  $n \to \infty$  we can deduce that  $\{u_n\}$  is a Cauchy sequence in  $(H, \|.\|)$ , and that is a converges to some  $u^* \in H$  as  $n \to +\infty$ .

(II) We will prove that  $Fu^* = Qu^* = u^*$ . by property(2) of the definition(2.1), and the condition (2.9), we have

$$\|u^* - FQu^*\|^2 \le s[\|u^* - u_{2z+2}\| + \|u_{2z+2} - FQu^*\|]$$

$$= s \|u^* - u_{2z+2}\| + s \|QFu_{2z} - FQu^*\|$$

$$\leq s \|u^* - u_{2z+2}\| + s \alpha \|Fu_{2z} - FQu^*\| + \beta \|Qu^* - QFu_{2z}\|$$

$$= s \|u^* - u_{2z+2}\| + s \alpha \|u_{2z+1} - FQu^*\| + \beta \|Qu^* - Qu_{2z+1}\|,$$

by take the limit as  $z \to +\infty$ , we get,

 $||u^* - FQu^*|| \le s\alpha ||u^* - FQu^*||$ , which is a contradiction because  $0 \le s\alpha < 1$ .

Thus  $||u^* - FQu^*|| = 0$ ,  $FQu^* = u^*$ , Similarly, we get,

$$||u^* - QFu^*|| \le s[||u^* - u_{2n+3}|| + ||u_{2n+3} - QFu^*||]$$

$$= s[||u^* - u_{2n+3}|| + ||FQu_{2n+1} - QFu^*||]$$

$$= s\|u^* - u_{2n+3}\| + s[ \qquad \alpha \|Fu^* - FQu_{2n+1}\| + \beta \|Qu_{2n+1} - QFu^*\|],$$

by take the limit as  $n \to +\infty$ , we get,

 $||u^* - FQu^*|| \le s \beta ||u^* - FQu^*||$ , which is a contradiction,

Because  $(0 \le s \beta < 1)$ .

Thus 
$$||u^* - QFu^*|| = 0$$
,  $QFu^* = u^*$ .

(III) Now We will show that QFx and FQx have a unique common fixed point.

Assume that  $u^*$ ,  $v^* \in H$  such that,  $u^* \neq v^*$  are common fixed points of QFx and FQx, by (3.20), we have

# References

- [1] Bakhtin, I. (1989). The contraction mapping principle in quasimetric spaces. Functional analysis, 30, 26-37.
- [2] Banach, S. (1922). Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales. Fund. math, 3(1), 133-181.
- [3] Bhardwaj, R., Wadkar, B. R., & Singh, B. (2015). Fixed point theorems in generalized Banach Space. International journal of Computer and Mathematical Sciences (IJCMS), ISSN, 2347-8527.
- [4] Boriceanu, M. (2009). Fixed Point Theory For Multivalued Generalized Contraction On A Set With Two b-Metrics. Studia Universitatis Babes-Bolyai, Mathematica, (3).
- [5] Bota, M., Molnar, A., & Varga, C. S. A. B. A. (2011). On Ekeland's variational principle in b-metric spaces. Fixed Point Theory, 12(2), 21-28.
- [6] Cheng, R., Mashreghi, J., & Ross, W. T. (2020). Function Theory and &p Spaces (Vol. 75). American Mathematical Soc.

$$\begin{split} \|u^* - v^*\| &= \|QFu^* - FQv^*\| \\ &\leq \alpha \|Fu^* - FQv^*\| + \beta \|Qv^* - QFu^*\| \\ \|u^* - v^*\| &\leq (\alpha + \beta) \ \|u^* - v^*\|, \quad \text{which is contradiction,} \end{split}$$

Since  $0 \le \alpha + \beta < 1$ , we get,  $||u^* - v^*|| = 0$ , thus  $u^* = v^*$ .

**Corollary 2.4:** Let H be a G.B.S. with  $\|.\|$  and let  $F, Q: H \to H$  be a two mappings on H fulfilling the condition, and  $s \ge 1$ ,

$$||Fx - Qy|| \le a ||Fx - x|| + sb \frac{||x - Qy||}{1 + ||Fx - y||}, \dots$$
(2.11)

for all  $x, y \in H$  where a, b and c are nonnegative real numbers. and

 $(0 \le 2s^2b, \ a + 2s^2b, \ as, \ s^2b < 1)$ , then F and Q have a unique common fixed point.

**Corollary 2.5:** Let H be a G.B.S. with  $\|.\|$  and let  $F, Q: H \to H$  be a two mappings on H fulfilling the condition, and  $s \ge 1$ ,

$$\frac{\|Fx - Qy\|}{\|x - Qy\| + \|x - Qy\|} \le a \|Fx - x\| + c$$

$$\frac{\|x - Qy\| + \|x - Qy\|}{1 + \|x - y\|}, (2.12)$$

for all  $x, y \in H$  where a, b and c are nonnegative real numbers. and

 $(0 \le 2s^2b + 2sc, a + 2sc, as < 1)$ , then F and Q have a unique common fixed point.

#### Conclusion:

In generalized Banach space, we introduced some common fixed point theorems, including rational condition of p- contraction and  $(\alpha, \beta)$  composition contraction. The common fixed point contraction mapping principle also has a local version (Corollary (2.1), (2.2), and (2.3) as well as an asymptotic version Theorem 2.1). Also (Corollary (2.4) and (2.5) as well as an asymptotic version Theorem 2.2).

- [7] Czerwik, S. (1993). Contraction mappings in \$ b \$-metric spaces. Acta mathematica et informatica universitatis ostraviensis, 1(1), 5-11.
- [8] Ding, H. S., Imdad, M., Radenović, S., & Vujaković, J. (2016). On some fixed point results in b-metric, rectangular and b-rectangular metric spaces. Arab Journal of Mathematical Sciences, 22(2), 151-164
- [9] Khuen, W.N. & Hassan, A. S. (2022). Fixed point theorems with various enriched contraction conditions in generalized Banach spaces. Journal of Al-Qadisiyah for computer science and mathematics, 14(2), Page-15.
- [10] Kir, M., & Kiziltunc, H. (2013). On some well known fixed point theorems in b-metric spaces. Turkish journal of analysis and number theory, 1(1), 13-16.
- [11] Mohammad, K. H. A. N., & JHADE, P. (2015). On A Fixed Point Theorem with PPF Dependance in



the Razumikhin Class. Gazi University Journal of Science, 28(2), 211-219.

- [12] Ozturk, V., & Turkoglu, D. (2015). Common fixed point theorems for mappings satisfying (EA)-property in b-metric spaces. J. Nonlinear Sci. Appl, 8(6), 1127-1133.
- [13] Sarwar, M., & Rahman, M. U. (2015). Fixed Point Theorems for Ciric's and Generalized Contractions in b-metric spaces. International journal of analysis and applications, 7(1), 70-78.
- [14] Seddik, M., & Taieb, H. (2021). Some fixed point theorems of rational type contraction in-metric spaces. Moroccan Journal of Pure and Applied Analysis, 7(3), 350-363.
- [15] Xie, S., Wang, Y., & Zhong, L. (2016). Some Fixed Point Theorems In \$ B \$-Metric Spaces. International Journal of Pure and Applied Mathematics, 110(4), 571-580.

# بعض نظریات النقطة الصامدة المشترکة الانکماشیة p و $(\alpha,\beta)$ الترکیب الانکماشی فی فضاء باناخ المعمم

وسام نافع خيون ، عليه شاني حسن قسم الرياضيات ، كلية العلوم ، جامعة القادسية ، القادسية ، العراق

#### لملخص

في هذا العمل ، نقدم بعض نظريات النقطة الثابتة المشتركة الانكماشية للأس p و ونظرية ( $\alpha$ ) التركيب الانكماشي في فضاء باناخ المعمم. تعتبر النظريات المعدمة هي تعميم وامتداد للعديد من النظريات المعروفة في فضاء باناخ .